Efficiency vs Dxy(PV)
S~O.05_ —

%045
5 E -
0 0.04F- -+
S E

.035F
qC) E
2o.03f
£ F
®.025F -
0.02F-+1
0.015F

OE=20-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit_original
—— DQM_V0001_R000000001__Global__mkFit_pless
—— DQM_V0001_R000000001__Global__mkFit_hptt

[ Efficienc] —— DQM_v0001_R000000001__Global__mKkFit_new

‘—1—0.8—0. 0.4— .2. 608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

< 0l

o © 9
o o
(=~

s s nodbd R A LR L e o
L s

10 20 30
TP dz(PV) (cm)

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


